AQA Level 2 Further mathematics Number & algebra
Section 2: Algebraic manipulation
Section test

1) The expression 8x*y® —4x>y* —2x*y can be written in fully factorised form as

(a) 2x2y(4y2 —2xy? —1) (b) 2x2y(4y2 - 2xy3)

(©) xy(8y* —4xy°-2) (d) 2x°y(6y” —2xy°* -1)
(e) Idon’t know

2
2) The expression Zy——l can be simplified to
y'—y-2

y+1 y-1
Q) —— by 22—
Ol Ofva

1

o e
(c) Va2 (d) cannot be simplified

(e) I don’t know

3) 32—)(3>< 26y , expressed in its simplest form, is
y

X+ 2X
2 4
@ ey NECED)
© 2 @ a2
X Xy +2

(e) I don’t know

2 3
4) Xy, 3xy2 , expressed in its simplest form, is
2z 10z
3x°y* 8xz
@ 20zy3 ® 37
o9Xz 3y?
©€) — d) =2
3y? @) 5xz

(e) Idon’t know
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5 5 3 _
X+2 2x-1

(a) L (b) L
(x+2)(2x-1) (x+2)(2x-1)

(©) o ix=11 (d) 2
(x+2)(2x-1) (x+2)(2x-1)

(e) I don’t know

6) Make u the subject of the formula s =3 (u+v)t.

S—V 25—V
@) u=2(Tj (b) u= "

© u=2£%—v] (d) u:%—v

(e) Idon’t know

7) Make x the subject of the formula g =

(a) X = iz_az (b) X = aZ ;1
\lg g

© x=1/az—% @ x= =X
g g

(e) I don’t know

8) Make a the subject of the formula b = arx
a+c
bc—x X—hc
a)a= b) a=
(a) b1 (b) -
X—bc bc—x
C)a= d) a=
©) b+1 @) b+1

(e) I don’t know

9) The quadratic expression x> —2x—3 can be written in the form
(@) (x+1)>—4 (b) (x-1)>-4

(c) (x-1)2-3 (d) (x—1)2-2
(e) Idon’t know
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10) The quadratic expression 2x2 + 6x + 1 can be written in the form

(@) 2(x+3)° -1 (b) 2(x +3)2—-8
(c) 2x+3)*-8 (d) (2x+3)* -2
(e) Idon’t know
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Solutions to section test

1) The corvect answer is (a)

XY —4xCyt —2xy = :2x2g(4g2 —2xy° —1)

2) The correct answer ts (0)

Y1 _W((y—i) Yy-1
g -y-2 (y-Dy+sT y-2

2) The correct answer is (b)

2X ey _ X ey
3y® X+2x 30 x(x+2)
_2f Y
Zy? A(x+2)
B 4
Gy (x+2)

4) The correct answer is (¢)

X:zy .BXgS_XQgXIOZQ
g 2—

2

2z 10z 2z 3XY

Y s
27 =2xXy*?

_S5xz

-2

5) The corvect answer ts (¢)

The common denominator is (x+2)(2x—1)
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5 3 _52x-1)-3(x+2)
x+2 2x-1  (x+2)(2x-1)
_10x—-5-3x-6
 (x+2)(2x-1)
Fx—11

T (x+2)(2x-1)

&) The correct answer is (d)

s=3(u+v)t

2s =(u+V)t
28

— =utv
t

2s
—-v=u

2s
wu="-v
t

F) The correct answey is (¢)

J- 1
ﬂ:z_)(:z
gNa* —x* =1
1
gz_xz - =
9
1
ﬂQ—X2:_2
g
1
ﬂ2=—+,{2
2
g
1
ﬂ:z__:)(:z
2
9
1
x=|a*-—
g
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g) The correct answer ts (b)

a+ x
b=

a-+c
V(a+e)=a+x

ab+bec=a+ x
ab=a+ x—bc
ab—a=x—be
alb—1)=x—bec
X—be
ﬂ:
b—1

9) The correct answer is (b)
X2 —2x—-3=(x—-1)Y-1-3
=(x-1) -4
10) The correct answey is (a)

x5 +ex+1=2(x*+3x)+1
=2((x+2) -2)+1
_ 2_ 2
=2(x+2)—-<2+1
_z
2

=2(x+3)
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